N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

L F : ¢ F L F M e
g 100k : g . sl 8 sl : 8
£10°F : £ S10°F £
5: : ] k) E %
10°F = 8 o
E =
10k E F 3
10°%F E
10°F
F 2L [.
102k -
1of 10f
1k 1 F
o - -
©
LR = T 24
pi
T oo Do T oo Do
-20 0'—20 -15-10 -5 0 5 10 15 20 -20 - 0 0'—20 -15-10 -5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
1%} 1%} (%]
x X X
Q [} Q
g . S o
3 1OF P °
E = §
10°F g
5 : 102F
e deegee etk RPN E
ol PO OO SO Y . 10F oot
11 O;.u-'"" Pl A ° MTEE NS NN P 1 °
g g R ([ 3
x o ] x
Eoo L Lttt MH SO 1111
10 20 30 0835 =20 -10 0 10 20 30 -10 0 10 20 30 083550 -10 0 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


